B Time allowed: 45 minutes

B Part A: 20 multiple-choice questions (40 marks)
B Part B: 7 free-response questions (60 marks)

Part A
20 multiple-choice questions
2 marks cach: 40 marks
Circle the correct answer,

Questions 1 to 6 refer to the tollowing data,
which describe the ages of the students in
a karate class.

21 14 13 16 16 15
13 10 13 18 12 14

1 Find the mean.

A I3 B 14
C 145 D 14.6
2 Find the standard deviation.
A28 B3
C 4.8 b2
3 Find the mode.
A 13 B 14
C 145 D 14.6
4 Find the median.
A 13 B 14
C 14.5 D 4.6
5 Find the range.
A3 B 4
C 11 D12
6 Find the interquantile range.
A2 B 2.8
C3 D 48

7 The number of children in a family is an
example of:

B qualitative data
D discrete data

A categorical data
C continuous data

8 Which one of these is nof a measure of

spread?
A interquartile range B outlier
C range D standard deviation
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lata

Name:

9 Thescores 4, 3, 7 and y have a mean of 4,
What is the value of y?

A4
C 25

B 35
D2

Questions 10 and 11 refer {o the following
frequency table, which describes the number of
days 40 students bought their lunches at the
school canteen last week.

Score Frequency
0 4
f 2
2 6
3 10
4 11
5 7
10 Find the mode.
A 25 B 3.1
C3 D4
11 Find the mean.
A 25 B 3.1
C3 D 4

12 Which one of these measures is not part of a

five-point summary?
A upper quartile B median

C lower extreme D standard deviation

13 Which one of these measures depends upon
the value of every score in the data set?

A mode
B interquartile range
C standard deviation
D range
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Topic test 9: Analysing data continuved
14 The six chefs at a restaurant earn the following
weekly wages: $520, $610, $610, $630, $660,
$710. How will another wage of $400 affect
the mean and standard deviation (SD) of this
set of wages?
A The mean and SD will both increase
B The mean and SD will both decrease
 The mean will increase and the SD will
decrease
D The mean will decrease and the SD will
increase

Questions 15 and 19 refer to the following
box-and-whisker plot, which describes the
number of hours worked per week by
employees at a supermarket,

—— ] e

18 20 22 24 26 28 30 32 34

15 Find the interquartile range.

A4 B 2.5
C 15 D 275
16 Find the median,
A 26 B 27.5
C 30 D cannot be
determined
17 Find the mode.
A 28 B 27.5
C 28.5 D cannot be
determined
18 Find the range.
A2 _ B 275
C4 D cannot be
determined

19 If there are 48 employees at the supermarket,
how many worked between 26 and 32 hows?

A8 B 36
C 24 D 12

20 Which measure is least affected by an outlier
in the data set?

A mode
C standard deviation

B range
D median
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Part B
7 free-response questions
60 marks
Show working where appropriate.

21 (8 marks) This stem-and-leat plot lists the
ages of people visiting a chemist in half

an hour.,

Stem| Leaf
0 |3 7 8
1 (2 5 6 9 9
2 4 7
310 4 5 6 6 7 8
4 |2 5 8 8 8
510 1 7 17 8
6 |3 4 8

Find:

a therange

b the mode

¢ the median

d the interquartile range

22 (6 marks) This dot plot shows the number
of rainy days per week in Mudgee over a
15-week period.

3 4 5 6 17

a [s this distribution symmetrical or skewed?

b What is the outlier?

¢ Where does the clustering oceur?
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Topic test 9t Analysing data continued

23 (12 marks) The number of phone calls 24 (2 marks) Alice’s average mark for five
received per minmite by a computer support exams is 67%. In her next exam, she wants to
line in a 30-minute period is shown below: improve her average to 70% What mark must

22125435102445 1 she obtain in her next exam to achieve this?

034553002445342
a Complete this tabie.

Cumulative 25 (8 marks) Police radar measured the speeds
Score Frequency | frequency (in km/h) of 40 vehicles. The results are
0 4 4 shown in the frequency table below:
!
Class Class  [Frequency,| fX
2 (km/h) centre, X f
3 4 70-79 2
4 80-89 8
5 90-99 9
100-109 13
b Construct a cumulative frequency
histogram and polygon. 110-119 8
Totals

a Complete the table,
b Find the modal class.

¢ Calculate an estimate for the mean.

g
3
g
‘ﬁ 26 (10 marks) The daily temperatures (in °C) in
g Tarce over 3 weeks are illustrated in this dot
'E plot.
=1
O .

L] L] ] L L]

] [ ] [ ] [ ] * *

» L] L] L] L] [ ] L L -

21 22 23 24 25 26 27 28 29 30

i i i L i :' Find the mean.
1 2 3 4 5 a
Number of calls per minute

¢ Use the polygon to find the median. b Find the standard deviation.

¢ Find the interquartile range.
d Use the polygon to find the interguantile d Find the median.

range.

e Find the mode.
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Topic test 9: Analysing data continued

27 (14 marks) Two PE classes of students have
their pulse rates (in beats per minute)
measured, The results are shown in these box-
and-whisker plots,

— [ F—————  Class 10Y
53 93

64 74,5 81.5

1 Class 107
58 68 76 80.5 96

1 1 1 1 1 1 1

52 56 60 64 68 72 76 80 8 88 92 95
Pulse rate (beats/min)

a What was the lowest puise rate across both
classes?

b Find the median for class 10Y.

¢ Find the interquartile range for class 10Z.

d Find the range for class 107,

e If there are 24 students in class 10Y,
how many had a pulse rate between 74.5
and 937

f Which class had the higher pulse rate on
average? How does the box-and-whisker
plot show this?

g Which class had more spread of pulse
rates? How does the box-and-whisker plot
show this?

END OF TEST.
Use the rest of this page
for extra working space.
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¥ Time allowed: 45 minutes
W Part A: 20 multiple choice questions (40 marks)
X Part B: 7 free-response questions (60 marks)

Part A
26 multiple-choeice questions
.2 marks each: 40 marks
Circle the correct answer,

Questions 1 to 6 refer to the following data,
which describe the ages of the students in

a karate class. .
RSP R, o
BI04 817 a0

e . b e
1 Find the mean, x® _
A 13 B I4
C 14.5 ® 14.6
2 Find the standard deviation. |
&2.8 B 3
C 43 D2
3 Find the mode,
&13 B 14
C 145 D 146
4 Find the median.
A 13 ®14
C 14.5 D 1456
5 Find the range.
A3 B 4
O il D12
e A7
6 Find the interquastile range, l}ﬁ*)‘@' SNe
A2 B 28
@ D 4.8

7 'The number of children in a family is an
example of;
B qualitative data

O )discrete-data

A categorical data

C continuous data
8 Which one of these is nof a measure of

spread?

A interquartile range @Guﬂier

C range

NEW CENMTURY MATHS 10: 3TAGES 5.1/5.2

SOLUTION-S

Analysing data

I standard deviation

Name:

e
_ — e =
9 Thescores 4; 3,7 and y have a mean of 4.
What is the value of y?
A4
C 235

e

B35
/©)2

Questions 10 and 11 refer to the following
frequency table, which describes the number of
days 40 students bought their lunches at the
school canteen Jast week.

Score Frequency
0 4 7
1 2
2 6
3 10
4 11
5 7
10 Find the mode.
A 25 B 3.1
C3 % DL

11 Find the mean.
A 25
C 3

/@ 3.1

D4

12 Which one of these measures is not part of a
five-point summary?
A upper quartile
C lower exfreme

B median
\/ @stzmdard deviation

13 Which one of these measures depends upon
- the value of every score in the data set?

A mode
B interquastile range
standard deviation

/Egrange
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Topic test 5: Analys_;i'hg data continued

14 The six chefs at a restaurant earn the following
weekly wages: $520, $610, $610, $630, $660,

$710. How will another wage of $400 affect
the mean and standard deviation (SD) of this
set of wages?
" A The mean and SD will both increase
B The mean and SD will both decrease
C The mean will increase and the 8D will
decrease

/LD The mean will decrease and the SD will
"increase

Questions 15 and 19 refer to the following
box-and-whisker plot, which describes the
number of hours worked per week by
employees at a supermarket.

— T

18 20 22 24 26 28 30 32 34

15 Find the interquartile range.

VD 4 B 2.5
Cl5 D275
16 Find the median,
A 26 v®2715
C 30 I cannot be
determined
17 Find the mode,
A 28 B 275
£ 285 V4 @ cannot be
determined
18 Find the range.
V12 B 27.5
C 4 D cannot be
determined

19 Ifthere are 48 employees at the supermarket,
how many worked between 26 and 32 hours?

A 8 /@ 36 '7<o/:
C 24 D 12

20 Which measure is least affected by an outlier
in the data set? '

v @mode

C standard deviation

B range
D median

MNEW CENTURY MATHS 10: 5TAGES 5.1/5.2

PartB
7 free-response questions
60 marks
Show working where appropriate.

- 21 (8 marks) This stem-and-leaf plot lists the
ages of people visiting a chemist in half
an: hour. .

b
D
B

Stem

XX
&

o

,

ﬂ%@ <
o

pep

XA s

o R )
e RER
A DR M

Find:
a therange

Lg% = 65V

b the mode (‘_1% /

2o stoits )
¢ the median _JTL(-JS/-; 15:-!4
265
d the interquartile range
b oS o119

22 (6 marks) This dot plot shows the number
of rainy days per week in Mudgee over a
15-weck period.

-
L J L ]
L ] -
L L] L] L]
- [ ] L ] L] [ 2

01 2 3 4 5 6 7

a {s this distribution sfmmetrical or skewed?

poss N V‘-?J\r} Shg peed

b What is the outlier?
o 6

¢ Where does the clustering occur?
at

J

{ emed U
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Topic test 91 Analysing data continued

23 (12 marks) The number of phone calls 24 (2 marks) Alice’s average mark for five
received per minute by a computer support exams is 67%. In her next exam, she wanis to
line in a 30-minute period is shown below: improve her average to 70% What mark must
224085 A8 5L 8 0 oS she obtain in her next exam to achieve this?
03 4553 80N F.57G 4.5 ; IR N U B >7/~x~a[ ;
a Complete this table, ‘ BB = Yo 7 ( & “’7‘5‘-
- — X - €57,
Cumulative 25 (8 marks) Police radar measured the speeds
Score Frequency | frequency (in km/h) of 40 vehicles. The results are
0 4 4 shown in the frequency table below:
1 > 7
_ — Class Class  Irequency, fX
2 S (S (km/h) | centre,X f )
3 4 -7 079 | A 2 liso
4 7 /I 2y, 089 | <% GE
Y '
5 i S5 ¥ 90-99 as 9 g5y
100-109 ¥ 13 ey
b Construct a cumulative frequency -
histogram and polygon. 110-119 (s 8 L2
X Totals - Va7
2: B N T o a Complete the table. '
26 b Findthe modalclass, {oo—i1a@ /
T ¢ Calculate an estimate for the mean.
& = ATy
Q20 g Zgon = T
g 18 rpro Ry
16 b e U TO0 U0 ON N  WO 26 (10 marks) The daily temperatures (in °C) in
g 14 B2 T ‘4’/ : Taree over 3 weeks are illustrated in this dot
§ 12 + iof i i p )
10 P s/
g - : E AT — X
T T OTTAL L @ e 7
RV ARNERENI N AN X e ¥ HF ks
S T e A i S e 21 22 23 24 25 26 27 28 29 30
2 L] A
R , ] - . -":'-ZTJ“\/(C‘.“‘)PS
0 o1 2 3 1 s a Find the mean.
Number of calls per minute . .
¢ Use the polygon to find the median. b Find the standard deviation. = 2+« » y(Q
Rl ‘;3 \/ . .
pgplieit ¢ Find the interquartile range. W’l BE
| 2 =
d Use the polygon to find the interguartile d Findthemedian. =9 ¢ /
range. - v = 2T 4
R A 2 e Findthemode. — 2.5 /
}'.\%—é{;fvc\"h‘Lﬂ._ {m‘}?y t’%
2.
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Topic test 9: Analysing data continued

27 (14 marks) Two PE classes of students have
their pulse rates (in beats per minute)
measured. The results are shown in these box- .
and-whisker plots.

513———{ ] }———913 Class 10Y
64 745  8LS
4 Class 10Z
58 68 76 80.5 96

1 L L 1 1 1 1 L 1 1

52 56 60 64 68 72 76 80 84 88 92 98
Pulse rate (beats/min)

a What was the lowest pulse rate across both

9 -
classgs. = % 53

b Find the median for class 10Y. = ¢, § /
¢ Find the interquartile range for class 10Z. =\ L » S—-,/
d Pind the range for class 10Z. =e 96 -59

e If there are 24 students in class 107,
how many had a pulse rate between 74.5 /
and 937 (L savdaeats

f Which class had the higher pulse rate on
average? How does the box-and-whisker /

piot show this? sl (22 - gwaddtya (Npr\iyc:n 4egl {77 ;,\W.?Y,_-_nﬂr,m ‘
veoye) 33 kb

g Which class had more spread of pulse
rates? How does the box-and-whisker plot

show this? ok ‘
elass toY - gs\ay‘f wOpuachle mge

END OF TEST.
Use the rest of this page
for extra working space.
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